
 

 

 

 

     
     

 

  

 

–256   
  

5 6 

2  

(bit) 

(100)16 
 

–   
    

    

   

–   
  NO(A OR NOT B AND C) 

    

–   
  

 

 
–    

    

    

  



 

 

–      

 
  

–  

(E) 

 

–(NAT) 

–   
  

A B Y 
1 1 0 
1 0 0 
0 1 0 
0 0 1 

 

 AND  NOR  NAND  OR 

 

 

 

 

.X A B C    .X A B C  ( ).X C B A  .( )X A B C  

 

–    

            -        
               
                        +   

(320)10 (    )16 (    )2 (113)8 (    )2 

(7)8* (7)16 (    )2 (B)16 (    )2 



 

 

–   

 
  

  

S1=0, S2=1, S3=1, S4=0 
–   
–   

  

     

 
– 

).( DCBAX   

  

  

  

(X)D = 1, C = 0 , B = 0 , A = 0  
 

  NOR 
   

–   
 

–   
  

    

–   

(1) 1010 1111  10100  11001  ......   ....  .....  ...... 
(2) (F)16  (1E)16  (2D)16  (  1   )16  (  2  )16   



 

 

 

–   
–     

IANAIPv4 

  

  

  

  

  

–   
   

 

–X     
(2) X = 5 * (111)2 – (13)16 (1) X = (1000101)2 – (11110)2 (3) X = (1111111)2 + (11111)2 

–  

 – 

AND OR NOR NOT 
 – 

 44   29   6632  74 
 – 

    

 – 

 
  C NAND B NAND A  A NOR B NOR C 

  A NAND B NAND C  A NAND (B NAND C) 

   


